
x=
n m



 zng-n mit -mN0, zn0,...,g-1,  nm. x= 151=12,288... als Dezimalbruch darstellen:

xm:=xgm mit m:=-minN0:x<g1+, und  zn:=xn, xn+1:=g(xn-zn) für nm.  xng-n=
 




n

zg-  xn=gn

 




n

zg-

x=    1*10-(-1)+2*10-(-0)+2*10-(+1)+8*10-(+2)+8*10-(+3)+..
n=    =m=-1            0               1            2            3           4     …..
xn=    x-1                     x0              x1              x2         x3          x4     …..
         12,288..*10-1   

 2,288           2,88..        8,8..        8,..        .,..   …..
       1,2288..
zn=    z-1             z0               z1           z2            z3                ….    …..
       [1,2288..]    [2,288]         [2,88]       [8,8]        [8,..]        ….    …..
       1                2              2            8             8          ….    …..
zng-n   z-1g-(-1)        z0g-(-0)                z1g-1         z2g-2          z3g-3             ….    …..     

         1*10-(-1)           2*10-(-0)            2*10-1              8*10-2           8*10-3            ….    …..      

       10              2             0,2           0,08         0,008        ….    …..
xn+1=  x-1+1=x0        x0+1=x1          x1+1=x2        x2+1=x3        x3+1=x4            ….     …..
    10(1,2288..-1) 10(2,288..-2)  10(2,88..-2)   10(8,8-8)   10(8,..-8)      ….    …..
       2,288          2,88..          8,8..         8,..         .,..        ….    …..
 

     10-1 


 1

zg-     100


0

zg-           101


1

zg-

        10-1*12,288    100*2,288..     101*0,288
       =1,2288..   =2,288..           2,88..

xn=zn+
  




n 1

zg-       Bsp 12,288..: xn=zn+
  




n 1

zg-, n=3, x2=z2+ 


 31n

zg-=8+


